| total events O=anyInput 8=anyAccept |

Entries

Mean

~Irms

59103

1.756

2.501

..............................................................................

0 1 2 3
Input: 1=btow, 2=etaw

|rauaofinputevents

4

5 6 7 8 9

Accept: 4=oneJet, 5=diJet, 6=rnd

| L2 time used per input event

BO0O—++rrrirgerrrerbre b
(0]

>
%000
>
6000
5000

4000

3000

2000

1000

Entries 204184
Mean 70.74

RMS 11.29

100 150 200 250 300

350

400

x: time (CPU kTics)

Entries

45

y: rate (Hz)

40

35

30

25

20

15

10

.........................................................

Mean

RMS

46917

602.4
332.2

..............................................

1000

1500 2000
X: time in this run (seconds)

2500

4ccpet rate blue:monoJet, red:diJet, black:randon1

y: rate (Hz)

Entries 3393
607.9
333

Mean

.........................................................................

............................................

1000

1500 2000 2500
X: time in this run (seconds)



BTOW tower, Et>2.0 GeV (input)

soft=1+

x: BTOW softiD.

soft=801+ SN

o
Xx: BTOW softiD.

o
x: BTOW softiD.

o
Xx: BTOW softiD.

soft=4001+,

o
X: BTOW softiD.



ETOW tower, Et>2.0 Gev (input)

crate=1:

han+128*crate

crate=2:

x: i=chan+128*crate

crate=3’

x: i=chan+128*crate

crate=4:

x: i=chan+128*crate

crate=5:

x: i=chan+128*crate

crate=6

=chan+128+crate




BTOW tower, Et>2.0 GeV (input)

20

RP~Sectop
o
O

y; phi bi

Entries 18273

Entries

O 5 10 15 20 25 30 35 40 o 2 4 6 8 10 1
X eta bln, [-l,+l] x: 12 - Endcap etaBin ,[+1,+2]



Et Jetl-Jet2 (input) |

Entries 46917

> 12
[)) -

10

Jet2 Et/G

30

y: iPhi2 ~sector
N
Ul

20

15

10

8

0
10 12

x: Jetl Et/GeV

|diJetl eta-phi (input)]

30 e

20

y: iPhi ~sector

15

10

Entries 46917
I4OO
350

300

200

150

100

50

25 30
: iPhil ~sector

|diJet2 eta-phi (input)|
30 = . \ =

N
(&2}

y: iPhi ~sector

20

15 : e

10/,

BTOW-West| Endcap

6 8 10 12 14

x: iEta [-1,+2]

Entries 46917

BTOW-West| Endcap

250

200

150

100

50

0 2 4 6 8 10 12 14

X: iEta [-1,+2]



Jet2 Et (input)

: Mean
:|RMS 1.28

Entries 46917
2.235

Jetl Et (input) Entries 46917
\ —|Mean 5.308
10 ‘|RMS 1.98
AS) I " S AT S ST SR
102l et SO SO A S b
DTS s s
I Sk R R RN | o B B 2 u B u DA s [ I-I -----
' =50
x: Et (GeV)
| #BTOW towers>ped+8 (input) | Entries 46917
F T T T T T T | Mean 35.44
1400 - -ee e il e e o AR R Hroeeee > {RMS 13.87
1200 ; : : ; ; :

1000
800
600
400

200

N~ SN I B . .

RN NI T T [N T T T T T S W

0 20

40

60

80

# ETOW towers>ped+8 (input)

120

140

160 180 200

x: # of towers/event

2200
2000
1800

1600
1400

1200

1000 —
800

600

400

200

Jo) =TI PPN BRI BN Bl

0 10

20

30

40

Entries 46917
Mean 16.02
10.79
i 1
80 90 100

x: # of towers/event

total Et (input)

60
x: Et (GeV)

10

102

10

Entries 46917
Mean 18.21

-{RMS 5.272




one-Jet Et (accepted) |

one-Jet eta-phi (accepted
b F.):..u)v -West| Endcap

Entries 3393

80

y: iPhi ~sector

60

50

40

30

0 10 20 30 40 50 60 0 2 4 6 8 10 12 14
X: jet Et (GeV) x: iEta [-1,+2]

Entries 3393 Entries 3393

S S ST s
woof o -
160F 157 NSRS R A S— e g IS S -
140F B00E b e =
120 Py SHNUUN SRS SUNPU NN == IR SN N .

100 E L ;
F 200+ R R R oo preese e e

80 = i 5 5 5 : 5
150F= ek I R RSSO S SO0 N e

60f S A B
s R e
. 1 PO RO DOV PAVRNS WO DO O
0:| 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O:l 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1

0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: iPhi ~sector x: iEta [-1,+2]



|Et of Jetl vs. Jet2 (accepted)] [Entries 2940 | |d|Jet1 eta-phi (accepted)|
> 12 O\\/ - D UV

m -

Q

N L

3 10

y: iPhi ~sector

2
!
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted)] [Enties 2040 [djJet2 eta-phi (accepted)|
= - oToW-West Endcap
30 _ 30 R T O\ - 5
S 8
..L_a) (&)
: S : :
o« B z 25 18
= o
= = 16
> 20 20
14
12
15 15
10
10 10 8
6
S 4
2
0 0 0
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector X: iEta [-1,+2]



|diJet Et (accepted)|

10

10 g

—|Mean

‘IRMS

Entries 2940
8.313
2.685

“|—High Et jet
“l--- Low Et jet

- s ]]|| s s s
il K L »_'_"» "1"'l"1'Ll"L'Ll"L'LI'"L"J:"lLﬂ"'l"

0 10 20 30 40 50 60

x: Et (GeV)

|diJet eta (accepted) |

Entries

450

400

350

300

250

200

150

.............................................................

...........................................................

Mean

RMS

2940
8.552
3.889

— High Et jet
Low Etjet

100

S -~

o

2 4 6 8 10

160

140

120

100

80

60

40

20

Entries 2940

— High Et jet Ly
--- Low Et jet :

0 5 10 15 20 25 30

x: iPhi ~sector

e T T +Mean 15.06
- :[RMS  8.948

|diJet delZeta (accepted)|

12 14
x: i Eta[-1,+2]

Entries

350

300

250

200

150

100—

50

............................................................

............................................................

Mean
RMS

2940
30.97
5.593

.......................

.......................

1 1 L | I 1

10 20 30 40

50 60

x: delta zeta (rad*10)




: Entries 2940
|d|Jet delZeta vs. etal (accepted)| oy o oeo
s - Meany 30.97
S .
¥ o0r
8 L
8 50
(0]

N
8
3 40
i

Entries

x: iEta2 [-1,+2]

Fxlean X
eany

0
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
|diJet delZeta vs. avrPhi (accepted) | Enties 20401 [total Et diJet (accepted)] Entries 2940
- ————— M -
S [ oD oo sany 3087 250F IMean  22.92
5 B :
R = === g
g 30 -
I - 10 o) IS SR I U USRS SRS PO SO
[}
3 -
® T e ey L e —25 -
g -
© . C
T ] S A T sttt ke A izo e e A
: ............................ — 15 :
ST USRS SUU U U TR SR U UUUUUUURTE SUUUUUUUUUUUUN SUUUURURRTTIN 100k — -+ mmmmmebe e R
I T T T e 10 B
: : SO e e
| 5 C
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O B 1 1 1 1 |_L| | i— | — | 1 1
b 5 10 15 20 25 30 0 10 20 30 40 50 60

x: (iphil+iphi2)/2 (12 deg/bin)

2940
8.552
7.868

x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted EE) |

Entries 447

> 12

O

Q L

o : : : :
g S

I120

|diJet1 eta-phi (accepted_EE)|

Entries 447
Endcap

30__BTOW-East

......................................................

D uvv-vveSt‘

14
|

12

— 100

4 6 8 10 12
x: Jetl/GeV

y: iPhi ~sector

15

10

0

.........................

.........................

0 2 4

6 8 10 12 14

Entries 447

y: iPhi2 ~sector

30

N
¢

20

15

10

10 15 20 25 30
x: iPhil ~sector

|d|Jet2 eta-phi (accepted_ EE)|

y: iPhi ~sector

30

N
(&2}

20

15

10

x: iEta [-1,+2]

RTﬂ\AI I:an D Tovv=vvesSt Endcap
Lo | L1 | 1 1 | 11 | L1 TR | l 1 -_|_
0 2 4 6 8 10 12 14

X: iEta [-1,+2]

10

Il0




|diJet Et (accepted EE) |

HAE

— High Et jet
Low Et Jet

10

i

:|RMS  0.9971

—|Mean

Entries 447

5.238

20 30 40

50
X:

60
Et (GeV)

|diJet eta (accepted EE) |

160

140

120

100

80

60

40

20

Entries

Mean

447
12.84

1.178

- — High Et jet
- --- Low Et jet

S |pve

..............

..............

12

14

x: i Eta[-1,+2]

-
S R ——
-

a|—High Etjet
--- Low Et jet

.......

.....................................................................................

—|Mean
:|IRMS

Entries 447
13.87

8.864

0 5 10 15 20

25

30

x: iPhi ~sector

35

30

25

20

15

10

Entries

Mean

447
31.69
8.16

.....................................

RMS

O

20 30 40 50

60

x: delta zeta (rad*10)




|diJet delZeta vs.

etal (accepted EE)|

y: delta zeta (rad*10)

Entries
Mean x

447
12.84

31.69

60

50

40

30

20

10

OIIIillIilllilllilllilllillli

Mean y

0 2 4 6 8 10 12 14

x: iEtal [-1,+2]

diJe

Entries

t eta2 vs. etal (accepted_EE)|

14

12

x: iEta2 [-1,+2]

15N
O

viean X

Endcap
eany

D

[ee]

0 2 4 6 8

447
12.84

13.13

10

10 12 14

x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_EE) |

Entries

y: delta zeta (rad*10)

Mean x
Mean y

447
14.15
31.69

o 5

10 15 20 25

X: (iphil+iphi2)/2 (12 deg/bi

30
n)

|tota|

Entries

60

50

40

30

20

10

Et diJet (accepted_EE)|

447

18.46

r{Mean

...............................................................................

1M1 |_|I 1M1 11 II 11 1

0 10

20

30 40 50 6

0

x: Et (GeV)



Entries

|Et of Jetl vs. Jet2 (accepted_EB)|

> 12
)

Jet2/G

T T et

10
x: Jetl/GeV

12

618

160

140

120

diJetl eta-phi (accepted EB Entries 618
| RT(?\/\/—FS-IQ]‘ leu_vv-v)v|€St Endcap

30 : : ; [ [

25 e

y: iPhi ~sector

.........................

15

10

.........................

Olllilllil
2 4

o

12 14

Entries

|diJet phil-phi2 (accepted_EB)|

30

N
¢

y: iPhi2 ~sector

20

15

10

20 25
x: iPhil ~sector

0 5 15

30

618
10

9

|diJet2 eta-phi (accepted EB)] Entries 618
BTOW-Eact DTovv=vveSt Endcap
80 T : - —]
25—

y: iPhi ~sector

20

15

10

O 1 1 1 i 11 1 i 1

o

2 4

X: iEta [-1,+2]



|diJet Et (accepted EB)| Entries

T]Mean

:|RMS

618
7.568
1.561

..........................................

Bt — ngh Etjet """" """""""

.....................

--- Low Et jet

ni il el el el Lﬂ el el s el {' Tl el el hjl e el el Tl

10 20 30 40 50 6

0

x: Et (GeV)

|diJet eta (accepted EB) |

Entries

TCOCRRRE BN S, ——
TAOF—+ovosdenssedics B b

120 b - -

LO0f—+-eeebemresenndinins :

o - [—High Et jet
] e SR e --- Low Et jet

GO

T -

PSSR SRR SOUPOOS SO Joih SO NSO OSSO 1

_JLJIJILILJLIIIIIIIIIIIIIIIIII

Mean

618
11.15

1.7

-{RMS

0 2 4 6 8

|diJet phi (accepted EB)| Entries

25

20

15

10

—|Mean

618
15.15
8.55

"""" : —ngh Etjet
: : 1--- Low Et jet :

5 10 15 20 25 30

x: iPhi ~sector

|diJet delZeta (accepted EB)]

10 12 14

x: i Eta[-1,+2]

Entries

70

60

40

0 Illliﬂr'_h|_| I 11 1 | i | I T |

........................................................................

Mean
RMS

618
30.83
5.703

....................................................................................

N
0F T
e

e e e I

0 10 20 30

40

X: delta zeta (rad*lO)




|diJet delZeta vs. etal (accepted EB)| Entries 618 |diJet eta2 vs. etal (acce Entries 618

Mean x  11.15 Mean x  11.15
= - Mean y —
T 60F +
g r =
g %0 i
s b i
o L X
3 a0
= I
30[—
20
10
O C 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 O C 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1 O
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
diJet delZeta vs. avrPhi (accepted_EB) | enes o ltotal Et diJet (accepted EB)| Entries 618
e T R T Meany 3083 g
: : ; ] Y 3083 60 Mean 2131

50

.................................................................................

40

y: delta zeta (rad*10)

30

20 ..................................................................................
] T
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O O C 1 1 1 1 i 1 1 1 i 1 1 1 1 i 1 1 |_| i 1 M 1 i 1 1 1 1
b 5 10 15 20 25 30 0 10 20 30 40 50 60

x: (iphil+iphi2)/2 (12 deg/bin) x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted BB)| [Envies  2140]  IjJet] eta-phi (accepted BB)
» D Tovv=-vvest Endcap

> 12 _ 30
[} - o
Q 3 40
ST b
()
3 10 é 25 35
o
8| Y 30
25
i 20
4 10 15
10
2
. 5
ol 0 0
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted BB)| [Enties 2140} |dfjJet2 eta-phi (accepted BB)
30 BTOV-E= oTovv=vvest Endcap

30

25

y: iPhi2 ~sector
N
Ul

y: iPhi ~sector

20 B IR S
DA Tl T

10

0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: iPhil ~sector X: iEta [-1,+2]




|diJet Et (accepted BB) | Entries 2140 |diJet eta (accepted BB) | Entries 2140
|Mean 9.196 250 Mean 7.238
3 . -
10" E= HRMS 2534 - RMS 3.66
b S 200
10° g SHEE - 150/
Fox | — High Etjet [ s T ngh Etjet
Y “|--- Low Et jet I : ---LowEtjet -
I : : 0o S PR S RIS : e
10 Emdenfdlonnnp i i ndnnnns -
R R HEt S N e S o
1—J 3 1 "E" — 'l'"j[':l"'l:ﬂ"t' _I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1
0 10 20 30 40 50 60 0 2 4 6 8 10 12 14
x: Et (GeV) x: i Eta[-1,+2]
|d|Jet phi (accepted BB)| Entries 2140 |di.Jet delZeta (accepted_BB)| Entries 2140
120 SRS T Mean 15.35 - Mean 30.81
C : : :|RMS  9.006 - RMS  4.713
: : : 250 - rrreersbenee s e
100 -rremrremiemrreereeepem AR A htl A C
N P7011| INTRSURORE SRS NN T U0 RIS I0s I
LT -
— High Etjet £ AN SO OO S-S SO RO UL S
--- Low Et jet -
_ ____________________________ T S I T T T
B RED Jetl ET > GREEN Jet2 ET sk :
20_ ...................................................................................... __ """"" ‘ """""""""""""""""""""""""""""""""""""
_I 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O:I 1 1 I-—i 1 1 1 1 i 1 1 1 1 I 1 1 1 i 1
0 5 10 15 20 25 30 0 10 20 30 40 50 60

x: iPhi ~sector

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted BB) |

Entries

y: delta zeta (rad*10)

60

50

40

0 2 4 6 8

Mean x
Mean y

2140
7.238
30.81

25

20

15

10

5
0

10 12 14
x: iEtal [-1,+2]

Entries

x: iEta2 [-1,+2]

mean X
eany

12 14
x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_BB) |

Entries

y: delta zeta (rad*10)

Mean x

Mean y

2140
15.03
30.81

..........................................

........................................................

1O

5 10 15 20 25
x: (iphil+iphi2)/2 (12 deg/bin)

30

2140
7.238

Entries

200

180
160}
140
120

100

80

60

40

20

:|Mean

2140

24.28

..................................................................................

..................................................................................

|_L|I—l—|—|i—.l—ll 1

O_I 1 1 Ii

20 30 40 50

60

x: Et (GeV)




